GeoLogPlot

Digital Drilling Data . Eu. ' .

Systems, LL (Scale: 5":100' (10Y)

Company: Bill Barrett State: Colorado

Well: Anschutz State 4-62-2-1721BH2 County: Weld

Field: DJ Basin Country: United States

Well ID: 0512338961
Job Number: 4760-432-22

Location: Sec.2 - T4N - R62W Elev KB: 4566
Operator 1: Ryan Nelson Elev DF:
Operator 2: Chad Andress Elev GL: 4544
Comment 1:
Comment 2:
Comment 3:
Comment 4:
Comment 5:
Hole Data Casing Record
Size From To Size From To
8 3/4" 796 5621
8 3/4" 5621 6470 7" 796 6457
6 1/8" 6470
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 601 601 601
Cal Factor 4.653 4.653 2.75
Gamma Offset 43 51 46
Start Depth 796 5621 6470
Start Date 4-18-14 4-20-14 4-22-14
Start Time 4:00 16:30 23:30
End Depth 5621 6470 13756
End Date 4-19-14 4-21-14
End Time 20:30 23:45
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